February 05, 2014

Algebra Equations Day 1 warm up

1. You have $300 in a savings account. You spend $5 each
day for lunch.

a. Make a table to show how much money you hav
account (up to 10 days). ¥

20—t
b. Graph your data. 90—t
c. How much money will you have in 1(!)’doyls>2 LS TITRT TV
a5 day s
d. How much money will you have in 12 days?
240
e. Write an equation to represent how much money you will  y

have left in your savings account after x days.
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Algebra Equations Day

1
When equations look like this, it is in S(ng_ - iﬂ'l‘!fgﬂ form.
‘5’“’?" = b\,qamwcﬁ/ﬁa"‘*“ﬂ poiet
Slope
The number in front of. the x is the s la pe. . The number not in
front of the x is the Y-inkercept . Whén graphing, start at the

E/—iﬁkfcfﬂ and fhen use the Slal—ag to find the next point.

Examples
For numbers 1-2, graph each line with the given information. Then
write the equoTionJor the line. -3 down

U up | vight !
1. Slope =4 0 ".Sg‘ | N ok 2. Slope =-3 9\1.(‘\".‘
y-intercept = 1 < Marbng fon y-intercept = 07" P

Equgtion

s=X+

Equation I
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3. Graph theliney = SX@ 4. Graphtheliney = @
g \ * x
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5. Rewrite each equation for the line in slope-intercept form. Then find

the slope and y-intercept. Y=mx+ b
A -

a. x+§: 4 slope = = | y-intercept = H

(y=—X*+4

5

b. 3y A 105, slope= jz y-intercept=_ =2

(8="3%+5 )

6. The price of cheese pizza is $4.50 with an extra charge of $.50 for
each additional topping. If this situation were graphed with x = the
number of ’ropplngs and y = total price, what would be...

¥ 4.60
o
b. slopee "~ ¥

c. equation? z SOX "Ll SD “LC

g=mMxhy "“o)
(;;J: :5,0\(* :’-_60

Q. y-infercept:




